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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

proposed the Planetesimal Hypothesis of origin of Earth

. Chamberlin and Moulton
Hoyale

. Banerjee

~James and Jeffrey
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Quartzite is a metamorphised form of

. Sandstone
- Shale
Slate

- Marble
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Options :
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The point of origin of an earthquake is called

1. Epicenter

2. Hot spot

3. Focus

4 Median Point

Options :
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878270172951. 3
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An oval-shaped mound composed of glacial drift is called

1. Esker
2. Drumilin
3. Kame
4 Moraine

Options :
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878270172954. 2
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878270172956. 4
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|dentify the correct statements

(A).The direction of movement of particles in P-waves is to and fro.

(B).The path followed by P-waves through interior of earth is convex.

(C).The motion of particles in Rayleigh waves is in elliptical orbit in the plane of propogation
(D).5-waves can pass through solid and liquid.

Choose the correct answer from the options given below

1.(B)and (D) only
2. (B (C) only
3 (A), ( } and@mnlv
4 (A)and (C) only

l.
)
l.
J'



Options :
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Correct Marks : 4 Wrong Marks : 1

Match List-l with List-l

List-l List-lI

(Process) (Landform)

(A). Fluvial (I). Saddle
(B).Glacial (II). Demoiselles
(C). Coastal (). Tombolo
(D). And (V). Levee

Choose the correct answer from the options given below:

1. (A) - (IV), {B} (1), (C) -
C)-

2. (A) - (1), (B) - (lIN), (
3. (A) - (I, {B} (). (C) -
4 (A)- (1), (

Options :
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878270172962. 2
878270172963. 3

878270172964. 4
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

reflects the radio waves back to Earth surface.

1. Troposphere
2. Stratosphere
3. Exosphere
4 lonosphere

Options :
878270172965. 1
878270172966. 2

878270172967. 3
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Instruction Time : 0
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The difference of observed mean temperature of a place and mean temperature of its [atitude is called

1. Temperature Inversion
2. Negative Lapse Rate
3. Thermal Anomaly

4 Normal Lapse Rate

Options :
878270172969. 1
878270172970. 2

878270172971.3
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The ratio of Absolute humidity to humidity capacity of an air parcel at certain temperature is known as

1. Absolute Humidity
2. Relative Humidity
3. Specific Humidity
4 Mixing Ratio

Options :
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878270172974. 2
878270172975. 3
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Arrange the following spherical layers of the Heterosphere in descending order of their height.
(A). Helium Layer

(B). Oxygen Layer

(C). Nitrogen Layer

(D). Hydrogen Layer

Choose the correct answer from the options given below:

1.(B), (A), (D), (C)
2.(D), (A), (B), (C)
3. (A), (B), (C), (D)
4.(D), (C), ( ‘. (B)
Options :

878270172977. 1
878270172978. 2
878270172979. 3

878270172980. 4
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878270172977. 1
878270172978. 2
878270172979. 3
878270172980. 4
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The Southern Oscillation Index is measured as the pressure difference between Darwinand ...

1. Tahiti
2. Peru
3. Chile
4 Columbia

Options:
878270172981. 1

878270172982. 2
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Identify the correct statements about Tropical Cyclones.

(A). Maximum wind velocity in a tropical cyclone is recorded in Eye Wall.
(B). They develop as a consequence of frontal development in Tropics.
(C). The matured stage of a cyclone is called Tropical Depression.

(D). Cumulonimbus are the dominant clouds in a Tropical Cyclone.
Choose the correct answer from the options given below:

1. (A) and (B) only
2. (A)and (D) only.
3. (B) and (C) only.
4 (A), (C)and (D) only

Options :

878270172985. 1
878270172986. 2
878270172987.3

878270172988. 4
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Options :
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Match List-l with List-ll

List-| List-ll

(Thermal Province)|(T/E Index)
(A). Tropical (1. 16 - 31

(B). Taiga (I). 32 - 63

(C). Microthermal |(1I1). Above 127

(D). Mesothermal |(IV). 64 - 127

Choose the correct answer from the options given below:

1. (A) -
2. (A)-
3. (A) -
4 (A)-

11}, (B) - (IV), (C) - (INN), (D) - (I}
1), (B) - (IV), (C) - (1), (D) - (1)
111}, (B) - (1), (C) - (11}, (D) - (IV}
11}, (B) - (1), (C) - (IV), (D) - (I}

— — S —

Options :

878270172989. 1
878270172990. 2
878270172991. 3

878270172992. 4

Question Number : 13 Question Id : 87827044032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- SR -1l BT A B

-l Gigial
GIEIPEE)] ﬁméﬁﬁﬁmaﬂ
(A) SUTBicE g (1) 16-31

(B) T (1) 32-63

(C) TS ET () 127 § s
(D) HErHT (V) 64-127

-d fgu TTe fadedl § © 98! 3R |

(1)
2. (A)-(1), (B)}-(IV), (C)-(11), (D)-(1I)
3. (A)-(1n), (B)-(1), (C)-(I1), (D)-(IV)
4. (A)-(In), (B)-(11), (C)-(IV), (D))

1. (A)-(11), (B)-(IV), (C)-(I1), (D
)

Options:

878270172989. 1
878270172990. 2
878270172991. 3

878270172992. 4
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Match List-l with List-ll

List-l

List-l

(Oceanic Currents)

(Location)

(A). Antilles

(). South Atlantic

(B). Peruvian

(1. Indian Ocean

(C). Benguela

(Il1). North Atlantic

(D). Agulhas

(IV). South Pacific

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)

4. (A) - (I, (B) - (IV), (C) - (l1), (D) - (I
Options :

878270172993. 1
878270172994. 2
878270172995. 3
878270172996. 4
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1. (A)-(1), (B)-(I1), (C)-(1I), (D)-(IV)

2. (A)-(1), (B}-(IN), (C)-(11), (D)-(IV)

3. (A)-(1), (B)-(IV), (C)-(1), (D)-(1)

4 (A)-(I), (B)-(IV), (C)-(I1), (D)-(1)
Options :

878270172993. 1
878270172994. 2
878270172995. 3

878270172996. 4
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Arrange the following Oceanic Relief features from coast to central part.
{A). Continental Slope

(B). Abyssal Floor

(C). Oceanic Ridges

(D). Continental Rise

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)

2. (A), (D), (B), (C)

3. (B), (D), (A), (C)

4 (A), (C), (B), (D)
Options :

878270172997. 1
878270172998. 2
878270172999. 3

878270173000. 4
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Flat topped submerged volcanic hills on sea floor are called

1. Guyots

2. Sea Mounts

3. Abyssal hills

4 Black Smokers

Options:
878270173001. 1
878270173002. 2

878270173003. 3
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The greatest tidal range Is observed when

. Spring tide occurs

. Neap tide occurs

. spring tide coincides with Perigean tide
. Neap tide coincides with Perigean tide

B A o

Options :
878270173005. 1
878270173006. 2

878270173007. 3
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Daly was a part of

1. voyage in Challenger
2. voyage to Hawail island
3. voyage in Beagle

4 voyage in Tahiti

Options :
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878270173011. 3
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878270173009. 1
878270173010. 2
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The term Ecology was first coined by

- Tansley
- Haeckel
. Barrows
- Odum

B A o

Options :
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are the primary consumers.

1. Herbivores
2. Autotrophs
3. Carnivores
4 Omnivores

Options :
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Eutrophication is a kind of hazard.

. Physical

_ Biological

- Chemical

- Technological

A

Options :
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878270173022. 2
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3. TS
4 dP-IB]

Options:

878270173021. 1
878270173022. 2
878270173023. 3

878270173024. 4

Question Number : 22 Question Id : 87827044041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the correct statements.
(A). The study of complex inter-relations of groups of organisms is called Synecology.

(B). The study of inter-relationships and inter-dependencies of groups of individuals of different species is called Community
Ecology.

(C). The study of relationship of individual species to its environment is called Biome Ecology.
(D). The study of interactions and inter-relationships of all organisms among themselves is called Population Ecology
Choose the correct answer from the options given below:

nd (D) only.
nd (C) only.
B) only
D) only.

a
a

—

Options :

878270173025. 1
878270173026. 2
878270173027.3

878270173028. 4

Question Number : 22 Question Id : 87827044041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T B 1 T |
(A) Sl o WE] o e SfaR-Tat & e @l SuRfRfod (Rapreiteh) Be1 o1 &
(B) fafira vt o safdkrdl o Tg b SfeR- el o e FvReral & ot ot e URfRfo®! # o B

(C) THfeT® T o TUaRT o T Wal & 3500 Pi 1A 3dIiol dgl il ol
(0) et oia @t g 1 et IR ARE & e ol S TR e I E)
e few mu foded o € W8 SR

Options :

878270173025. 1
878270173026. 2
878270173027.3

878270173028. 4

Question Number : 23 Question Id : 87827044042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(Organisms of Food Chain)|(Trophic Level)

(A). Grass (). Trophic Level - I
(B). Hawk (I1). Trophic Level - |
(C). Grasshopper (111). Trophic Level - llI
(D). Thrush (IV). Trophic Level - IV

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (IV), (B) - (IN), (C) - (1), (D) - (1IT)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1IT)
Options :

878270173029. 1
878270173030. 2
878270173031. 3
878270173032. 4

Question Number : 23 Question Id : 87827044042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l & 1Y -1l BT e B

-l LkiAl

(@ =T & Siig) (G0 )

(A) ITH (1) IreOT -1

(B) Tl (I1) TTSOT -

(c) fest (111) ST T

(D) EFBR (IV) ITE0T TV

T RT T e & @ 9 SR )

1. (A)-(1), (B)-(I1), (C)-(1I), (D)-(IV)

2. (A)-(1), (B}-(IN), (C)-(11), (D)-(IV)

3. (A)-(IV), (B)-(ID), (C)-(1), (D)-(l11)

4. (A)-(I1), (B)-(IV), (C)-(1}, (D)1l
Options :

878270173029. 1
878270173030. 2
878270173031. 3

878270173032. 4

Question Number : 24 Question Id : 87827044043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pir Panjal range lies in

1. Trans-Himalaya
2. Greater Hmalaya
3. Outer Hmalaya
4 Lesser Himalaya

Options :
878270173033. 1
878270173034. 2

878270173035. 3



878270173036. 4

Question Number : 24 Question Id : 87827044043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options :

878270173033. 1
878270173034. 2
878270173035. 3
878270173036. 4

Question Number : 25 Question Id : 87827044044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The thermal concept of the origin of monsoon was propounded by

1. Flohn

2. Halley

3. Hadley

4 Koteswaram

Options :
878270173037. 1
878270173038. 2

878270173039. 3



878270173040. 4

Question Number : 25 Question Id : 87827044044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFYH ®f 3dfd &t adig SfayRo SR UfcTied 31 773 41|

1. T
2 &l
4 DICRT

Options :

878270173037. 1
878270173038. 2
878270173039. 3
878270173040. 4

Question Number : 26 Question Id : 87827044045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The best quality of coal with highest proportion of carbon and low moisture content is called

1. Bituminous
2. Lignite

J. Anthracite
4 Peat

Options :
878270173041. 1
878270173042. 2

878270173043. 3



878270173044. 4

Question Number : 26 Question Id : 87827044045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PIaH B Jad U R DH T4 a1, FaiaH Tura] B S Bl

1 fagiHTe
2. fomge
3. WYMEe
4.4

Options :

878270173041. 1
878270173042. 2
878270173043. 3
878270173044. 4

Question Number : 27 Question Id : 87827044046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following rivers in descending order of their length in India.
(A). Godavari

(B). Sutlgj

(C). Krishna

(D). Yamuna

Choose the correct answer from the options given below

1. (A), (C), (D), (B)
2 {Fv (Eﬁ} (C), (D)
). (A), (D),
( ),

A (C)

4 {C; B), ( (A).

D

Options :

878270173045. 1
878270173046. 2
878270173047. 3

878270173048. 4

Question Number : 27 Question Id : 87827044046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafaiad Afeal &1 YRd ¥ 39@! dars & 3fa3isl HH § oaieyd d1
(A) Tieradt

(B) Hagd

(C) P

(D) THAT

Td feu e fgwedl § 9 98 S| |

1. (A), (C), (D), (B)
2. (A), (B), (C), (D)
(
(

™y

3. (B), (A), (D), (C)
4 (C), (B), (D), (A)

Options :

878270173045. 1
878270173046. 2
878270173047. 3

878270173048. 4

Question Number : 28 Question Id : 87827044047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

(Ore) (Metal)
(A). Magnetite |(1). Lead

(B). Bauxite |(Il). Manganese

(C). Galena |(lll). Aluminium

(D). Braunite |(IV). lron

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (II), (C) - (Il1}), (D) - (IV)

2. (A) - (IV), (B) - (I11), (C) - (1), (D) - (11}

3. (A) - (1), (B) - (I}, (C) - (IV), (D) - (IIT)

4 (A) - (), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270173049. 1
878270173050. 2
878270173051. 3

878270173052. 4

Question Number : 28 Question Id : 87827044047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l & 1Y -1l BT e B

Tt Gigial

(ST%) (4Td)

(A) H¥ETSE (1) T

(B) IR (1) e

(C) Fe (1) TegHitas
(D) SiFTge (IV) T8

-d feu TTe fadedl § © 98! 3w |
1. (A)-(1), (B)-(I1), (C)-(1), (D)-(IV)
2. (A)-(IV), (B)-(II1), (C)-(1), (D)-(I1)
3. (A)-(1), (B)-(I), (C)-(IV), (D)-(11)
4 (A)-(l), (B)-(IV), (C)-(1), (D)-(I1)

Options:

878270173049. 1
878270173050. 2
878270173051. 3

878270173052. 4

Question Number : 29 Question Id : 87827044048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements about soils of India.

(A). Khadar represents the older part of Alluvial soll.

(B). Black soil has the higher water retaining capacity among all the soils of India.
(C). Desert soils are rich in mineral salt but poor in organic matter.

(D). Red soils cover the largest area among soils of India.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (B)and (C) only.
3. (B), (C) and (D) only
4 (C)and (D) only.

Options :

878270173053. 1
878270173054. 2
878270173055. 3

878270173056. 4

Question Number : 29 Question Id : 87827044048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRd o1 gl & IR H Fel $Y 6 UgdH |

(A) FTaR Sdie gt & [H o @1 ufafiia s o

(B) YRd Bt Gl fIETgl &1 qo1 § reh gt § Od 4R &3 BT & Ud B
(C) i Tl B 9% T W@ BId! & dfth- deH® Uar ®1 &4l aidl ol
(D) Trat gt Wk @t gl & Oad 95 &7 & daR avdl e

4 feu U fewedl °§ O Ot SR A |

1. ®ad (A), (B) 3R (D)
2 ®4d (B) 3R (C)
3 ®4d (B), (C) 3R (D)
4. %ad (C) 3R (D)

Options :

878270173053. 1
878270173054. 2
878270173055. 3
878270173056. 4

Question Number : 30 Question Id : 87827044049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- applied teleclogical approach in Geography.

. Ratzel

- semple
- Ritter

. Hettner

B T B o

Options:
878270173057. 1

878270173058. 2



878270173059. 3
878270173060. 4

Question Number : 30 Question Id : 87827044049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fa)

3 Aey

4 g
Options:
878270173057. 1
878270173058. 2

878270173059. 3

878270173060. 4

Question Number : 31 Question Id : 87827044050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—————conceived Geography as the science concemed with the formulation of the laws governing the spatial
distribution of certain features on the surface of the earth

1. Hartshorne
2. Schasfer
3. Smith

4 Sauer

Options :



878270173061. 1
878270173062. 2
878270173063. 3

878270173064. 4

Question Number : 31 Question Id : 87827044050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

........... 3 it ! U R o & w0 e o o g ST R o) ol & e oo ol eifer a9 aa
B E RN EERGI

2 TN
3 oy
4 R

Options :

878270173061. 1
878270173062. 2
878270173063. 3

878270173064. 4

Question Number : 32 Question Id : 87827044051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

————- observed that the farmers were 'spatial satisfiers' rather than 'economic men’

1. Harvey

2. S0ja

3. Ackerman
4 Wolpert



Options :

878270173065. 1
878270173066. 2
878270173067. 3
878270173068. 4

Question Number : 32 Question Id : 87827044051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

......... = U & e e TS @ e e 9P B B

1.819
2 gia
3. Uh3eH
4 e

Options :

878270173065. 1
878270173066. 2
878270173067. 3
878270173068. 4

Question Number : 33 Question Id : 87827044052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following geographical contributions in correct chronological sequence
(A). Cosmos

(B). Aimagest

(C). The Geographical Pivot of History

(D). Geographia Generalis

Choose the correct answer from the options given below:

- (B), (A), (C), (D)
2 (A), (B), (C), (D)
-(B), (D), (A), (C)
4 (A), (B), (D), (C)
Options :

8782701730609. 1
878270173070. 2
878270173071. 3

878270173072. 4

Question Number : 33 Question Id : 87827044052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PN e =

FEfeiRad HITia® TrTeH! &f 98] dIarhiad $H H JaiRyd H1

(A). BIGANT
(B). AR

i

(C). T Forarnfhrd Urgae 1w fewd

€

(D). foramnttrar sferg

Td feu e fgwedl § 9 98 S| |

1. (B). (A), (C), (D)
2. (A), (B), (C), (D)
3. (B), (D), (A), (C)
4. (A), (B), (D), (C)
Options :

878270173069. 1
878270173070. 2
878270173071. 3

878270173072. 4

Question Number : 34 Question Id : 87827044053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the correct statements

(A). Welfare Geography calls for both revolutionary theory and revolutionary practice.

(B). Knox stated that objective of Geography is to map social and spatial variations in the quality of life.
(C). Behavioural Geography was based on the assumption of economic and rational man

(D). Stewart developed social physics.

Choose the correct answer from the options given below:

.(A), (B) and (D) only.
and (D) only.
and (D) only.

.(B), (C) and (D) only

Options :

878270173073. 1
878270173074. 2
878270173075. 3

878270173076. 4

Question Number : 34 Question Id : 87827044053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el BY! B UgaH dx

(A) BAGR] YA PIGOR! Gd AR HIGHR] A S DI 7 P 6

(B) e = el fob 47Tiet &1 T&<g Site b1 Turaell & Wreiord SR 1A Fradief &1 AFf & 3
C) SaER Yl 1T 3R ThETd ofd @1 4RO W 4R o1l

D) Wiae 4 grmfors Hifd®! &1 e foan)
d e fowedi 4 9 U8 SR

1. %ad (A). (B) R (D)

2 &ad (B) I m

3. &ad (A) 3R (D)

4 $ad (B), (C) IR (D)
Options :

878270173073. 1
878270173074. 2
878270173075. 3

878270173076. 4

Question Number : 35 Question Id : 87827044054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(Philosophy) (Thinker)
(A). Behaviouralism ((I). Tuan

(B). Humanism (I1). Pred

(C). Feminism (). Hartsock

(D). Exceptionalism [(IV). Kant

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (I, (B) - (1), (C) - (IV), (D) - (11}

( ( )

4. (A) - (11}, (B) - (1), (C) - (1lN), (D) - (IV

Options :

878270173077. 1
878270173078. 2
878270173079. 3

878270173080. 4

Question Number : 35 Question Id : 87827044054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gel-1 3R Geil-Il Gaferd &

-l Gilal

(=) (=)

(A) TTaERAG (1) T

(B) HGan (s

(C) AxiaE () BEai®
(D) SETHRUTET (IV) Hie

T e T e § 3 98 SR

1. (A)-(1), (B)-(l1), (C)-(111), (D)-(V

V)
2. (A)-(1), (B)-(II), (C)-(11), (D)-(IV)
3. (A)-(I1), (B)-(1), (C)}(IV), (D)-(1)

)

4. (A)-(I1), (B)-(1), (C)-(lN), (D)-(IV

Options:

878270173077. 1
878270173078. 2
878270173079. 3

878270173080. 4

Question Number : 36 Question Id : 87827044055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- propounded the 'Migration Zone Theory of Racial Evolution”.

1. Hettner
2. Sauer
3. Taylor
4 Ratze

Options :
878270173081. 1
878270173082. 2

878270173083. 3



878270173084. 4

Question Number : 36 Question Id : 87827044055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

e H YOG SEA®TY & UaEH ©S Gl &1 uiduie fadn

1. 8e
2 giae
3. e

Options :

878270173081. 1
878270173082. 2
878270173083. 3
878270173084. 4

Question Number : 37 Question Id : 87827044056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Geopolitically Israel is located in —————— .

1. Geographical Pivot
2. Rimland

3. Heartland

4 Quter Crescent

Options :
878270173085. 1
878270173086. 2

878270173087. 3



878270173088. 4

Question Number : 37 Question Id : 87827044056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I

YISHIdd EY Y SoRIE0 - H [

Ea

I"!. AN -

2

3. gad¥c

4. FTedl 3fedg
Options :
878270173085. 1
878270173086. 2
878270173087. 3

878270173088. 4

Question Number : 38 Question Id : 87827044057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Malthus, population will double In —————- years

1.:25
2. 200
39

4 256

Options :
878270173089. 1
878270173090. 2

878270173091. 3



878270173092. 4

Question Number : 38 Question Id : 87827044057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A & SHR 9] g8 § SN[ gl STg |

1.25
2200
3.9
4 256

Options :

878270173089. 1
878270173090. 2
878270173091. 3
878270173092. 4

Question Number : 39 Question Id : 87827044058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following countries in descending order of population
(A). Pakistan

(B). Mexico

(C). USA

(D). Indonesia

Choose the correct answer from the options given below:

Options :

878270173093. 1
878270173094. 2
878270173095. 3
878270173096. 4

Question Number : 39 Question Id : 87827044058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFgfeiRaa o= & 9I9en & 3faiis] ®H § gaikyd 31|
(A) TTfp&=

(B) Afda®!

(C) gust

(D) SSHRE

Td feu e fgwedl § 9 98 S| |

(D), (C), (Eﬁ,l (A)
(A), (B), (C), (D)
( H1|D3|63
(

D), (A), (B)

B),

(
(
(
C), (

2.
3:
4
Options :

878270173093. 1
878270173094. 2

878270173095. 3

878270173096. 4

Question Number : 40 Question Id : 87827044059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify correct statements with reference to urbanisation.
(A). Level of urbanisation in India 1s more than the world average.
(B). At world level share of rural population is only 5 percent more than urban population.

(C). In the total urban population of the world the share of Less Developed Countries is more than the share of More
Developed Countries.

(D). The level of urbanisation in South America is more than in Europe.

Choose the correct answer from the options given below:

Options :

878270173097. 1
878270173098. 2
878270173099. 3
878270173100. 4

Question Number : 40 Question Id : 87827044059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG & Yo  Te) U1 &1 TG Y|

(A) 4T H FRIH P1 R Ay a9 s 2

(B) a4 TR W il e &1 fReer Wed SEe & o | dhaa 5 TR i@ B

C) G 1 P Tl HeTe H ofcd famf o2 ot feeiar offiles faamfia o o fewie 9 oftw 3|
D) &0 AR H TG &1 7R [Y B qor 4 H0d 3

ra feg U faedl H 8 W1 IR Tl

1. Bad (A),
Mﬂa(
3. 6ad (
4 $ad (B) R (D)

Options :

878270173097. 1
878270173098. 2
878270173099. 3

878270173100. 4

Question Number : 41 Question Id : 87827044060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(Linguistic Family) (Branch/Group)
(A). Indo-European |(1). Egyptian

(B). Sino-Tibetan (I1}. Khoisan

(C). Semito- Hamitic |(1I). Thai

(D). African (IV). Latin

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (I}

2. (A) - (1), (B) - (IlT), (C) - (I, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270173101. 1
878270173102. 2
878270173103. 3

878270173104. 4

Question Number : 41 Question Id : 87827044060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gel-1 3R Geil-Il Gaferd &

g -l

(HTETS Uiam) (STET/EE)
(A) =i (1) =

(B) F-fersact () Eige
(c) Tfesfats (1) TS

(D) HBTET (IV) A
g R ey EAR i ]

1.(A) - (IV), (B) - (IlN), (C) - (1), (D) - (1)
2. (A) - (), (B) - (Iln), (C) - (I, (D} - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1T
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270173101. 1
878270173102. 2
878270173103. 3
878270173104. 4

Question Number : 42 Question Id : 87827044061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e |5 NOT a coniferous tree.

. Spruce

- Mahogany
Fir

. Pine

AW N -

Options :
878270173105. 1
878270173106. 2

878270173107. 3



878270173108. 4

Question Number : 42 Question Id : 87827044061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

............. TP VPRl US Tl B

Options :

878270173105. 1
878270173106. 2
878270173107. 3

878270173108. 4

Question Number : 43 Question Id : 87827044062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-------------- horizon is known as Zone of Eluviation

BN
I MmO

Options :
878270173109. 1
878270173110. 2

878270173111.3



878270173112. 4

Question Number : 43 Question Id : 87827044062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

........... HooR & e #8d & &y 5 9H1 9T B

1.0
2 C
3. B
4 A

Options :

878270173109. 1
878270173110. 2
878270173111.3

878270173112. 4

Question Number : 44 Question Id : 87827044063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Nationally Determined Contributions (NDCs) approach was introducedin ...

1. Paris Agreement

2. Kyoto Protocol

3. Rio Summit

4. Stockholm Conference

Options :
878270173113. 1
878270173114. 2

878270173115.3



878270173116. 4

Question Number : 44 Question Id : 87827044063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP TR W MR TRTEH (TSI ePPIo ——— - H U=y fobar 7 Tl
1. uftg qﬂ%ﬁﬂ

o

2 TIE Uieidid
3. gl Faray g™
4 WibsH GHT

Options :

878270173113. 1
878270173114. 2
878270173115. 3

878270173116. 4

Question Number : 45 Question Id : 87827044064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

India accounts for about ---—----—-— per cent of the world's water resources.

1.24
2.18.7
3. 4
4 12

Options :
878270173117. 1

878270173118. 2



878270173119. 3

878270173120. 4

Question Number : 45 Question Id : 87827044064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oy & o IaeE § Hd 3 feerd arHT-—— - ufaerd B

1.24
2. 18.7
3. 4
412

Options:

878270173117. 1
878270173118. 2
878270173119. 3

878270173120. 4

Question Number : 46 Question Id : 87827044065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—Is the leading country in the world in marine fisheries in 2020 as per the FAQ report 2022.

_Peru
_Japan
_India
_China

B e L I

Options :
878270173121.1

878270173122. 2



878270173123.3

878270173124. 4

Question Number : 46 Question Id : 87827044065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i_]
e
;

UHUS RUIE 2022 & 3UR 2020 § T T4 5 g

1.0%
2 WU
3 Y
4 9

Options:

878270173121. 1
878270173122.2
878270173123.3
878270173124. 4

Question Number : 47 Question Id : 87827044066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 2022, the world's leading importer in merchandise trade was ————-

1. China

2. Germany
3 USA

4 Japan

Options :

878270173125. 1



878270173126. 2
878270173127. 3

878270173128. 4

Question Number : 47 Question Id : 87827044066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2022 ¥ afirey-a%g oamaR & gfar &1 soft e d ——— o |

1. 94

2 STHHAT
3. guyu
4. SO

Options:

878270173125. 1
878270173126. 2
878270173127.3

878270173128. 4

Question Number : 48 Question Id : 87827044067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-------------- solls of Ukraine are ideal for wheat.

- Red

. Chernozem
. Podzol

. Laterite

B T o

Options :

878270173129. 1



878270173130. 2
878270173131. 3

878270173132. 4

Question Number : 48 Question Id : 87827044067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G5 Bl e forgh g & forg amexf 21

i

1. <
2 d3ANH

3. EI-. SEIN
4 tlck QcC

Options:

878270173129. 1
878270173130. 2
878270173131. 3

878270173132. 4

Question Number : 49 Question Id : 87827044068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following airports from south to north.

(A). Jeddah

(B). Harare

(C). Tehran

(D). Nairobi

Choose the correct answer from the options given below:
), (C)
), (C)
), (C)
(A)

w
=

Options :

878270173133. 1
878270173134. 2
878270173135. 3

878270173136. 4

Question Number : 49 Question Id : 87827044068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FHfIRad §aTg oS! &I GIa0T ¥ 3w’ B 3R Haeyd d1|
(A) SET
(B) BIX

L

) N
gt
=

Options :

878270173133. 1
878270173134. 2
878270173135. 3

878270173136. 4

Question Number : 50 Question Id : 87827044069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the correct statements

{A). The coffee tree is a native of the highlands of southern China.
(B). Coffee contains a stimulating substance called tannic acid.
(C). Mocha coffee is grown chiefly in Yemen.

(D). Different grades of tea are obtained at varying altitudes.
Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (A), (B), and (D) only.
3. (A) and (B) only.
4. (C)and (D) only.

Options :

878270173137.1
878270173138. 2
878270173139. 3

878270173140. 4

Question Number : 50 Question Id : 87827044069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el Syl B TgdH &3
(A) BB BT US GfEml 919 & Ugrsl 3a1a! &1 989d o
(B) BIH! & Udh 39 Uard gidl & fod ¢fHe tfys oel sl el

(C) a1 HIB! §&1 0 4 779 | IS &l o

(D) =g @ fafia Al srav-3iaeT Sadl ¥ Ui &f Wiid o |

=td fau e fadedl & ¥ 981 SR 4|

1. @ad (A) 3R (D)
2 ®ad (A), (B) 3 (D)
3. ®ad (A) 3R (B)
4. &dd (C) 3R (D)

Options :

878270173137.1
878270173138. 2
878270173139. 3

878270173140. 4

Question Number : 51 Question Id : 87827044070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(Type of Port) |(Example)
(A). Qil Port (). Memphis

(B). Ferry Port |(I). Dover

(C). Naval Port|(lll). Karwar

(D). Inland Port|(IV). Maracaibo

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (llT), (C) - (1), (D) - (I}
2. (A)-(IV), (B) - (IN, (C) - (), (D) - (1IT)
3. (A) - (IV), (B) - (I1), (C) - (11}, (D) - (1}
4. (A)- (1), (B) - (1), (C} - (1), (D) - (IV)

Options :

878270173141.1
878270173142. 2
878270173143. 3

878270173144. 4

Question Number : 51 Question Id : 87827044070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRl & 1Y - gAY B

-l Giial

(SETE &1 HPR) (Falel)

(A) 00 SgTE (1) BfERT

(B) ¥l e (1) SrET

(C) FEFT S50 (Ill) FRATS

(D) TR SguTe (IV) ARTETSE!

1 Teu U Tt 7 9 9 O 951

1. (A)-(IV), (B)-(lI1), (C)-(11), (D)-(1)

2. (A)-(IV), (B)(I1), (C)-(1}, (D)1}

3. (A)-(IV), (B)(11), (C)-(11), (D)-(1)

4 (A)-(1, (B)-(111), (C)-(11), (D)}-(1V)
Options :

878270173141. 1
878270173142. 2
878270173143. 3

878270173144. 4

Question Number : 52 Question Id : 87827044071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

------------ constitute about 2.3 per cent share of Indian population, as per the Census of India, 2011

1. Buddhists
2. Sikhs
3. Christians
4. Jains

Options :
878270173145. 1
878270173146. 2

878270173147.3



878270173148. 4

Question Number : 52 Question Id : 87827044071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR @I T, 2011 & SHTHR HRAIG ST T o1+ 2.3 Wiaed el 2|

195
2 T4g
3 39
4 o

Options :

878270173145. 1
878270173146. 2
878270173147.3
878270173148. 4

Question Number : 53 Question Id : 87827044072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The leading coffee producing state in 2020-21 was —————————.

1. Kerala

2. Karnataka
3. Tamil Nadu
4. West Bengal

Options :
878270173149. 1
878270173150. 2



878270173151.3
878270173152. 4

Question Number : 53 Question Id : 87827044072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2020-21 H 3R PIBT FATCPH ToY —-eem o |

1. &

2 FHleD
3. dHeHg
4. Tfge e

Options:

878270173149. 1
878270173150. 2
878270173151. 3

878270173152. 4

Question Number : 54 Question Id : 87827044073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

——————— i5 the most widely distributed industry of India

_lron and Steel industry
. Cement industry

- Sugar industry

. Cotton industry

L

Options :
878270173153. 1

878270173154. 2



878270173155. 3

878270173156. 4

Question Number : 54 Question Id : 87827044073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—————————————— HRd & Yad AU ¥4 ¥ [aikd 39 2|

1. QT 3R 35419 31T
2 Hitie I
3. 9T IR

Options:

878270173153. 1
878270173154. 2
878270173155. 3

878270173156. 4

Question Number : 55 Question Id : 87827044074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following states in descending order of level of urbanisation, as per the Gensus of India, 2011
(A). Karnataka

(B). Uttar Pradesh

(C). Mizoram

(D). Rajasthan

Choose the correct answer from the options given below:

Options :

878270173157. 1
878270173158. 2
878270173159. 3

878270173160. 4

Question Number : 55 Question Id : 87827044074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRT @I SFFTOMT, 2011 B TR TRIGU & wR & Haial PA 1 FHEfciad T oI sraiyd &1
(A) Tlcd

(B) TR U

Options :

878270173157. 1
878270173158. 2
878270173159. 3

878270173160. 4

Question Number : 56 Question Id : 87827044075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the correct statements about regional planning and development in India.

(A). The Hill Area Development Programme (HADF) was initiated in the Fifth Five Year Plan.

(B). The National Rural Employment Programme (NREP) was first implemented in the Sixth Five Year Plan.
(C). The Rashiriya Sam Vikas Yojana (RSVY) was initiated in 2014-15 to develop backward areas.

(D). Aspirational districts are assessed under 5 broad socio-economic themes.

Choose the correct answer from the options given below:

1. (A)and (B) only

2. (A), (B) and (C) only.
3. (A), (B) and (D) only.
4.(B), (C)and (D) only

Options :

878270173161. 1
878270173162. 2
878270173163. 3

878270173164. 4

Question Number : 56 Question Id : 87827044075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR H WG e 3R {3 & a1 3 981 By B 0gaH a1

A) TeTS1 &7 fdar e (Tauad) Uidd Gaauiy dier | & fodn 77 o)

B) T AT ISR BTUHH (TH3REY) P Ugel R 31 Uasia JioHT H ar fedn T i

C) YT T (3T U (SRUHdIaTs) $I e U &3 & ford & fw 2014-15 4 31 715 o1

D) Hebialt orei 1 Hedidh 5 ouTudh YrTford- i fawdl & ded i o 2 |
4 fu e fowed f @ O SR T

1. %ad (A) 3R (B)

2. 53 (A), (B) R (©)
3. %44 (A), (B) 3 (D)
4 Had (B) (C) R (D)

Options :

878270173161. 1
878270173162. 2
878270173163. 3

878270173164. 4

Question Number : 57 Question Id : 87827044076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(Industry)  |(Location)
(A). 5teel  |(1). Murshidabad

(B). Cotton |(I). Vijay Nagar

(C). Sugar |(lIl). Katni

(D). Cement |(IV). Sonepat

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1l
2. (A)- (1), (B) - (1), (C) - (11}, (D) - (IV
3. (A) - (1), (B) - (IN), (C) - (IV), (D) - (IN
4. (A) - (ll1), (B) - (IV), (C) - (1), (D) - (Il

i it mg® g

Options :

878270173165. 1
878270173166. 2
878270173167. 3
878270173168. 4

Question Number : 57 Question Id : 87827044076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gel-1 3R Geil-Il Gaferd &

-l Liglal

(ST (M)

(A) T (1) gifemTe
(B) =ITE NEEREUE
(C) =t (1) Fet

(D) HiHe (V) T
TR e T At 5 9 98 SR )

1. (A)-(I), (B)-(1), (C)-(IV), (D)-(11)
2. (A)-(1), (B)-(II), (C)-(1), (D)-(IV)
3. (A)-(1), (B)-(IT), (C)(IV), (D)-(Il)
4 (A)-(I1), (B)-(IV), (C)-(1), (D)-(I1)

Options:

878270173165. 1
878270173166. 2
878270173167. 3

878270173168. 4

Question Number : 58 Question Id : 87827044077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following shown on a map is invisible or intangible?

1. village

2. boundary
3. town

4 river

Options :
878270173169. 1
878270173170. 2

878270173171.3



878270173172. 4

Question Number : 58 Question Id : 87827044077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e W e e Fafaiad 5 9 &1 9 9w 91 3 72

1.71d
2 gl
3. TEY
4. 2}

Options :

878270173169. 1
878270173170. 2
878270173171.3

878270173172. 4

Question Number : 59 Question Id : 87827044078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In contouring, the existence of a surface is assumed.

. Plain

- Undulated
- Uneven

_ Statistical

B T

Options :
878270173173. 1
878270173174. 2

878270173175.3



878270173176. 4

Question Number : 59 Question Id : 87827044078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAHI0 H e Tdg & HEia FAT a2

Options :

878270173173. 1
878270173174. 2
878270173175. 3

878270173176. 4

Question Number : 60 Question Id : 87827044079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In one type of Climograph is reprensented on the Y axis and on the X axis

1. Dry bulb temperature, Wet bulb temperature
2. Relative humidity, Dry bulb temperature
3. Wet bulb temperature, Dry bulb temperature
4. Dry bulb temperature, Relative humidity

Options :
878270173177. 1
878270173178. 2

878270173179. 3



878270173180. 4

Question Number : 60 Question Id : 87827044079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T JOR & TIEHI 3 DY 3y TR B X 3 T TGN (o a8l

1. % Scd PI IGHH, 375, Gcd B ATGHH
3. 3% 9cd 1 aTHT, 5 ded @1 AITAH
4. 5 T I, T TS

Options :

878270173177.1
878270173178. 2
878270173179. 3
878270173180. 4

Question Number : 61 Question Id : 87827044080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Is a type of surveying classsified on the basis of purpose of the survey

1. Cadastral Surveying
2. Geodetic Surveying

3. Plane Table Surveying
4. Aero Surveying

Options :
878270173181. 1
878270173182. 2

878270173183. 3



878270173184. 4

Question Number : 61 Question Id : 87827044080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A& & 3eRG & HYR R Fidpd Y& 3T U6 UHR g

1. YA (BS<ed) Haalul

2. IO (Rgrsied) gdamn
3. Wi ¢ad W&

4. Balg A&

Options :

878270173181. 1
878270173182. 2
878270173183. 3

878270173184. 4

Question Number : 62 Question Id : 87827044081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gunter's chains equal 1 mile in Chain Surveying.

10
60
20
30

o o Bl

Options :
878270173185. 1
878270173186. 2

878270173187.3



878270173188. 4

Question Number : 62 Question Id : 87827044081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oilg () Gaem F e ot o 1 did & s Bidl 2

.10
80
.20
30

o R I

Options :

878270173185. 1
878270173186. 2
878270173187.3

878270173188. 4

Question Number : 63 Question Id : 87827044082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the Quadrantal bearing system of Prismatic Compass the bearings run from

1.00- 1800
2.0°- 3600
3. 907- 180"
4 (°-90°

Options :
878270173189. 1

878270173190. 2



878270173191. 3

878270173192. 4

Question Number : 63 Question Id : 87827044082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HICS HHTE B IgU (G Jorel H fGaH e I B

1.0°- 1800
2.0%- 360°
3. 907 - 1809
4.0%-90°

Options:

878270173189. 1
878270173190. 2
878270173191. 3

878270173192. 4

Question Number : 64 Question Id : 87827044083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Is done in cases in which the plane tabler is asked to show a few more objects in befween the objects already
shown on & map.

1. Intersaction

2. Interaction

3. Proportional Distribution
4 Resection

Options :



878270173193. 1
878270173194. 2
878270173195. 3

878270173196. 4

Question Number : 64 Question Id : 87827044083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

________ A 1 o e o O S o e R U @ o T o & dhe g R g o)
fege & feg g e 1

1.9
yRuCH
4 (YT

Options :

878270173193. 1
878270173194. 2
878270173195. 3

878270173196. 4

Question Number : 65 Question Id : 87827044084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Does your village has piped drinking water supply ?
This is an example of which of the following scale type of statistical mesurement.

1. Nominal
2. Ordinal
3. Interval
4 Ratio

Options :

878270173197. 1
878270173198. 2
878270173199. 3

878270173200. 4

Question Number : 65 Question Id : 87827044084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 319 Tifa § Ursy § TH & gl B 1R 8idl 82
75 Fefied 9 & f50 UeR & wiferey 710 &1 16 3aT6ev ¢

1. AT
2. D (3HiTsa)
3. AR
4. 3O

Options:

878270173197. 1
878270173198. 2
878270173199. 3

878270173200. 4

Question Number : 66 Question Id : 87827044085 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is defined as-
f(x)=(e™mMmX)/x!

1. Bionominal Distribution
2. Normal Distribution
3. Poisson Distribution
4 Uniform Distribution

Options :

878270173201. 1
878270173202. 2
878270173203. 3

878270173204. 4

Question Number : 66 Question Id : 87827044085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fufeaied o U fod 39 geRr uluiftg fear e -

f(x)=(e™m*)/x!

1. 5T EmEHTE) Go
2 UM faaro

3. Uiga- faaeo

4. GHH faazo

Options :
878270173201. 1

878270173202. 2



878270173203. 3

878270173204. 4

Question Number : 67 Question Id : 87827044086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following waveband can be used to discriminate among clouds, snow and ice?

1. Green

2. Mid-infrared

3. Near-infrared

4 Thermal-infrared

Options:

878270173205. 1
878270173206. 2
878270173207. 3

878270173208. 4

Question Number : 67 Question Id : 87827044086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofafed & ¥ g aivds &1 Ui agal 5 3R 9% & €19 3iq & & AU fhaT o 9ad 52

3. @R
4 TR

Options :
878270173205. 1

878270173206. 2



878270173207. 3
878270173208. 4

Question Number : 68 Question Id : 87827044087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area in which the film is held flat during an exposure is called the

1. Focal Plane

2. Focal Length
3. Local Datum
4. Field of view

Options:

878270173209. 1
878270173210. 2
878270173211.3

878270173212. 4

Question Number : 68 Question Id : 87827044087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o7 & T SEHITH B SNH fibed &I G <@l ol &, 39 et

1 Bied T
2. BidHd el
3. ®HT 3°H
4 CE BT

Options :
878270173209. 1

878270173210. 2



878270173211.3
878270173212. 4

Question Number : 69 Question Id : 87827044088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The segment tracks the GPS satellites and uploads updated navigational data.

1. Space
2. Military
3. Control
4 User

Options:

878270173213. 1
878270173214. 2
878270173215. 3

878270173216. 4

Question Number : 69 Question Id : 87827044088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G STy 3Ue] Bl < Bl § HR 3Hefad ARG Sl HUTIS Bl 6

1 909
2 &
3 T40am

Options :

878270173213. 1



878270173214. 2
878270173215. 3

878270173216. 4

Question Number : 70 Question Id : 87827044089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following map sheets in ascending order on the basis of area covered (smaller to larger area).
(A). Inch sheet

(B). Quadrant sheet

(C). Degree sheet

(D).Million sheet

Choose the correct answer from the options given below

1.(C), (
2.(B), (
3 (A),(
4.(B), (C), (D), (A)

A). (B), (D)
C), (A), (D)
B), (C), (D)

7

Options:

878270173217. 1
878270173218. 2
878270173219.3

878270173220. 4

Question Number : 70 Question Id : 87827044089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ffeiad AT ! @1 eSicd &7 (B1C T T8 &) & YR | HRIE) 1 H daieyd B |
(A) FE T

(B) gy e

(c) feiit g

(D) A e

T fem T fadedl H 9 w8 S H|

A), (B), (D)

(A), (

(C), (A), (D)
3 (A‘ (B), (C), (D)

B), (C), (D), (A)

C;
.(B),

Options :

878270173217.1
878270173218. 2
878270173219. 3

878270173220. 4

Question Number : 71 Question Id : 87827044090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following cities in descending order on the basis of variability of rainfall when mean and standard deviation are
given.

(A). Mean =50 cm; standard deviation = 5 cm
(B). Mean = 150 cm; standard deviation = 10 cm
(C). Mean = 20 cm; standard deviation=5cm
(D). Mean = 250 cm; standard deviation = 20 cm

Choose the correct answer from the options given below:

Options :

878270173221.1
878270173222.2
878270173223. 3

878270173224. 4

Question Number : 71 Question Id : 87827044090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W 1 R A Tt o T & ff W a1 SRRl & SR TR AR Tkl 1 ofie) o ¥ agaeda |
(A) 1% = 50 ¥ HF faeert = 5 Tl

B) 14 = 150 Tt A farder = 10 S

(C) 71 = 20 T, A ot = 5 Tt

(D) 714 = 250 TH}: FF et = 20 T

A feu U foded H 8 TR SR |

(B),(A),(C), (D)

L

2.(8),(C), (A), (D)
3.(D), (C), (A), |BJ
4.(C), (M), (D),

Options :

878270173221.1
878270173222.2
878270173223. 3

878270173224. 4

Question Number : 72 Question Id : 87827044091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the correct statements about aerial photo interpretation.

(A). In the aerial photograph the railway line appears as a dark thin [ine whereas the concrete highway appears in a bright
fone.

(B). Texture helps in identification of areas with vegetative cover crops, pastures, efc.
(C). Shape aids in the visualising of the relief dimensions.

(D). The pattern of drainage network in an aerial photograph gives a definite indication of the underlying rock type, its
structure and also the characteristics of soil efc.

Choose the correct answer from the options given below:

1.(A), (C) and (D) only
2.(A)and (D) only.
3.(C)and ( ) only.
4.(A), (B) and (D) only.

Options :

878270173225. 1
878270173226. 2
878270173227.3

878270173228. 4

Question Number : 72 Question Id : 87827044091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ta WIe e & R ¥ g1 99 o Uga @i |

(A) TG it ¥ X0 51 U@ T Wl 31 & 0 A [T ol § 91 dbic AT U0 gwad o A TG ¢al g
(B) TR TR, T, TRTR] A, et &5 1 e et A e e et gl
(C) S HH! o FEGRH 8 i Terd &% o

(D) T T9d Bic ¥ TG Head W JaHiea J6H & JOR, 3901 Gea 3R e o) oRivenaHt o &1 0@ e o

i U el # 4 e SR T

1.3Gd (A), (C) FR (D)
2W(Aaaﬁm
3. %99 (C) IR (D)
4. B (A), (B a?r{

Options :

878270173225. 1
878270173226. 2
878270173227.3

878270173228. 4

Question Number : 73 Question Id : 87827044092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the correct statements about Chain and Tape Survey.
(A). Ina Chain and Tape Survey only 2 persons are needed.

(B). While dividing the area info triangles, it is ensured that the vertices of the triangles are free from obstacles and are
easlly accessible.

(C). Kinks, if any, in the chain need to be removed
(D). Sizes of friangles are as small as possible.
Choose the correct answer from the options given below:

(A)and (D) only
(B) and (C) only
(C)and (D) only.

(D)
)
)
(A) and (C) only

1
2
3
4
Options :

878270173229. 1
878270173230. 2

878270173231.3
878270173232. 4

Question Number : 73 Question Id : 87827044092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIS (o) R DI (CT) g 3 S X ) A ) T k)

(A) RIS () 3 B (CU) Haa0r H et 2 TGl 1 MGl Gl ¢

(B) &7 @I Fvgal 7 favfora @ g, T %G o o & o Pt o < et < o oK o @ T
(C) SR A 3 3 o1 ), O 99 B a1 Sfen o

(D) Fvell & SR TURvA 81 1 3|
e few e foaedt 1 € W8 SR T
1. %ad (A) IR (D)
2 aa (B) AR (C)
3 %99 (C) 3R (D)
4 a0 (A) AR (C)

Options :

878270173229. 1
878270173230. 2
878270173231. 3

878270173232. 4

Question Number : 74 Question Id : 87827044093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List Listl

(Terminology) |(Meaning)

(A). Bench
Mark

(I). Itis a fixed reference point of known elevation above mean sea level.

(B). Datum |(Il). These are the ground points defined by the nodes of triangles or junctions of & traverse.

(II1). It refers to any arbitrarily assumed level surface or line from which vertical distances or elevations are

(). Offset
© o measured.

(IV). These are lateral measurements taken to locate the interior details with respect to the main survey

(D). Stations
lines.

Choose the correct answer from the options given below:

1. (A)- (I, (B)- (I, (C)- V), (D)- (1)

2.(A)-(V), (B)- (1), (C)- 1), (D) - I

3.(A)- (1), (B)- 1), (C)- V), (D) - I

4.(A)-(1), B)- () (C)- V), (D) - 11
Options :

878270173233. 1
878270173234. 2
878270173235.3
878270173236. 4

Question Number : 74 Question Id : 87827044093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T R L e @

Gl g

(AT ()

(A) T D (1) T5 310 95 70 § SW I S o1 0 i ged fig gl

(B) dRam () T P & w1 SR & e g e e g 7

(C) e (1l 75 forelt oft P oty ey v 1 W 1 g v & e SR Gl 41 a @1 AT o g
D) & (V) 3 8 T o 5 T & s R sl B £ R T A B
T e EE R o]

Options :

878270173233. 1
878270173234. 2
878270173235. 3
878270173236. 4

Question Number : 75 Question Id : 87827044094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(Corners of Climograph)|(Climatic conditions)
(A). N W (). Muggy

(B). N. E. (I1). Raw

(C). 5 W (lI1). Scorching
()5 E: (IV). Keen

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (Il}

2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (IV), (B) - (111, (C) - (1), (D) - (11}

4 (A) - (), (B) - (1), (C)-(IV), (D) - (11}
Options :

878270173237. 1
878270173238. 2
878270173239. 3
878270173240. 4

Question Number : 75 Question Id : 87827044094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- & Y -1 BT e B

-l -l
(FASHTTE & HIH) (STeTaTy SEIE)
(A)T. T (1) 3T U9 3%
(B)3. 4 (Il) 3UST T8 %
(C)E. 1. (Il) 37 U9 =
B (IV) 3US! Td ;=
T fou T e 5 3 98 SR

1. (A)-(1), (B)-(llT), (C)-(IV), (DM
2. (A)-(I1), (B)-(1l1), (C)-(IV), (D)
3. (A)-(IV), (B)-(liT), (C)-(1). (D)-(I
4. (A)-(l, (B)-(1), (C)-(IV), (D)-(I

Options :

878270173237. 1
878270173238.2
878270173239. 3

878270173240. 4

1)
1)
1)
1)




